
Number bonds to 20 

Can you find the missing numbers? 

 

 
8 + ________ = 20 

 

14 + ________ = 20 

 

10 + ________ = 20 

 

7 + _________ = 20 

 

9 + _________ = 20 

 

15 + 5 = __________ 

 

4 + ___________ = 20 

 

____________ + 3 = 20 

 

0 + ___________ = 20 

 

1 + __________ = 20 

6 + ________ = 20 

 

13 + ________ = 20 

 

6 + ________ = 20 

 

________ + 7 = 20 

 

19 + _________ = 20 

 

2 + _________ = 20 

 

11 + ___________ = 20 

 

____________ + 6 = 20 

 

17 + ___________ = 20 

 

1 + __________ = 20 


